
Time: 10 Minutes Paper Math 7 (T-4) Total Marks: 10

1st Month, 4th Week, 4th Day Review Ex: 1(a)  Q # (16,17,18,19)

Q.No.1. Choose the correct option. (0.75 x 4 = 3) 
i) which one of the following is set? 
(a) {s,c,h,o,o,l} (b) {1,2,3,4,3} (c) {b,a,g} (d) {b,a,n,a,n,a}

ii) If U = {-1, -3, -5, -7, -9} and V = {-1, -2, -3 ........-10} then = ?

=  V = {-1, -2, -3 ........-10}   U = {-1, -3,-5, -7, -9} 
(a) {-1, -2, -3 ........-10} (b) {-1,-3, -5, -7,-9}

(c) {-2, -4, -6 , -8, -10} (d) {-1, -2, -3 , -4,......... -9}

iii) If Y={a, b, c, ........z} and Z = {a, e, i, o, u} then Z - Y = ?

= Z - Y  Z = {a, e, i, o, u}  Y={a, b, c, ........z} 
(a) {b, c, d, f, g, h, k}

(b) {b, c, d, f, g, h, k, l, m, n, p, q, r, s, t, v, w, x, y, z}

(c) { }

(d) None of these 
iv) D = set of all perface square number between 5 and 100.

D =  100  15

(a) {6, 18, 36, 49, 64, 81,} (b) {5, 25, 36, 49, 64, 81,}

(c) {9, 16, 25, 36, 49, 64, 81,} (d) {9, 16, 25, 49, 81, 99,}

Q.No.2. Solve the following. (2 x 2 = 4) 
Write the following sets in other two forms. 
i) A = {4, 8, 12, 16, 20, 24, 28, 32} ii) G = 

Q.No.3. Simplify: (1 x 2 = 2) 

Q.No.4. Simplify: (1 x 2 = 2) 
If U =  then represent the following sets in venn diagram.

 U = 
i) X = {-1, -2, -3, -4},  Y =  {1, 2, 3, 4, 5}

ii) A = {-1, -2, -3, 4},     B =  {1, -2, -3, 4, 5}
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